20148¥

ROUND: 2 TABLE: 1 DATE: 12-27-2014
3l E VS 18
F = A =
FLFE FaEa FaEa FLFE
it : AEE IR SKFHRHE b : BB IR BIHER
m o B G : ABELIE m o B 7 IEM
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
9 | &Z&E/| W |4H| = | 620| E | 5D | -1 | 100 12
10 | WME|w|5C| =|-600|] N |4D | = | 130 12
1 | WE | N | 3D | -2 |-100| S [3NT| -1 | -50 2
12 | gt | E | 28| -2 | 100 | S |4HX]| -2 | -500 | 12
13 | W | w | 6S | +1 |-1460| W | 6S | +1 |-1460
14 | WK | S |4H| -2 | -100| N |[INT| = 90 5
15 | Emdt | N | 2H | +1 | 140 | N | 3H | = | 140
16 | %= | E |INT| +1 | -120 | E |[ANT| -1 | 100 6
DATUM&iit e
PLFE [E2yE35IPA) #% |12.00|37.00
ELAR/ERS  -29| FRMEHR/ESL 5.0 &it |12.00(37.00
BHR/GEM -5.0] IKHBE/AREGE  29.0  V.P. 2.50 [17.50




201448548

ROUND: 2 TABLE: 2 DATE: 12-27-2014
AE TR VS 2BXHT
F = A =
e TR EBAHT BAHT TR
3t : IR R MR b« Eik R s
[EZE=R g T B XURZ 75 HEE
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
9 | K| W |4H | +1 | -650 | S |3SX| -2 | -300 8
10 | WG | E |3NT| +2 | -660| S |5DX| -2 | -500 4
11 | WE | S |3NT| = | 400 | E |4SX| -3 | 500 3
12 | Bgdt | W | 4C | 1 50 E | 1S | -2 | 100 2
13 | W | E | 6S | +1 |-1460| W | 6S | +1 |-1460
14 | Wk | S |3H| = | 140| S |4H | -1 | -50 5
15 | gt | N |[3NT| = | 600 | N | 3H | = | 140 | 10
16 | Z=#f | E |INT| +1 | -120| N | 2| -1 | -50 2
DATUM&iit e
i L BARHT #1 [15.00{19.00
EER/2ER -1.0 Fis/XUB -2.0 ait 15.00|19.00
FigE/MEE 20| HER/ZH0 1.0 V.P. 8.33 [11.67




20148¥

ROUND: 2 TABLE: 3 DATE: 12-27-2014
T HRER VS S PHELHR
H = H =
I'RER T ETHS I NETHS I'RER
3t : BRRIR ®:BXfE 1t : R’ R EKIF
2R 7] 75 : BRI B XU 7g : AR
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
9 | &HKE| W |4H| = | 620| W | 4H | +1 | 650 | 1
10 | WME | N |5DX| 2 |-500| E |5C | = |-600| 3
11 | WE | N |4Cc| 2 |-100| W | 4D | -2 | 100 5
12 | Bt | E | 25| 1 50 E |4SX| -4 | 800 13
13 | W | w | 6S | +1 |-1460| W | 6S | +1 |-1460
14 | Wk | S |4H| -2 |-200| N | 3H | +1 | 170 7
15 | Bt | N | 4H | -3 | -300| N | 2H | +1 | 140 10
16 | Z&=fw | E |INT| = | 90 | w | 3C | -1 | 100 5
DATUM&iit e
IERER I PNETHR Z, 5 =] 4.00 |40.00
BEARR/Mp8 -36 | FREE/XIFR 1.0 &it 4.00 |40.00
SKiR/BRK  -1.0] EXHE/SRWL 36.0]  V.P. 0.76 |19.24




20148¥

ROUND: 2 TABLE: 4 DATE: 12-27-2014
8EA7BA VS 6HEY YOO
7 = A =
EEA7NBA HEY YOO HEY YOO B A7<BA
it RS R RMRT it : BRE% R TRS
I 7Y JiXdR BRI [
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
9 ZKFE | W | 4H | +2 | 680 S | 3S | -2 | -100 11
10 | WB | W |4C | +1 | -150| E | 3C | +2 | -150
11 | WE | N | 3| 1| 50| S |3NT| -1 | -50
12 | mit| S |3H| -2 |-200] E |25 | -1 50 6
13 | W8 | W | 7S | = |-2210| E | 4S | +1 | -650 17
14 | WEZK | N | 3D | -3 |-150| S |4H | = | 420 11
15 | =it | N | 3H 1 | -100| E [2NTX -4 | 800 14
16 | ZkFE | E |INT| = | 90 | E | 4D | -3 | 300 9
DATUM#iit e
Iy wayiN HEY YOO V. X+ 0.00 |68.00
FRe/EH  -40| PFRER/BAMBER 4700 &it 0.00 |68.00
WRs/E8 -47| BEIIL/&=NE 400 VP 0.00 {20.00




20148%%
ROUND: 2 TABLE: 5 DATE: 12-27-2014
112IEHE7) VS o] e 2
7 = A =
SlgB [ IREERY [ IREERY SlgB 1
it : K& R XUBR t : Bt IR IR
E L i vy 7 S R 7o : BRPRIE
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
9 KA | W | 4H | = | 620 W | 4H | +1 | -650 | 1
10 | W | E |[3NT| = | -600| W |3NT| +1 | -630 1
11 | WE | N |3 | = | 1120 E | 35| -2 | 100
12 | mit| E |4C| -2 | 100 | W | 3D | -1 50 2
13 | WB | W | 6S | +1 |-1460| W | 4S | +3 | -710 13
14 | WE | N [ANT| +1 | 120 | N |INT| = 90 1
15 | mdt | N | 44| -2 | -100| S [3NT| = | 600 12
16 | x| w |2c| +1 | 110 w | 2Cc | = | -90 1
DATUM# it iR
Sz H [ IRYERY v -] 5.00 |26.00
SKEW/FER 22| BR/AKWME 7.0 ait 5.00 |26.00
{4 ZR/BRFHIE  -7.0| XUBR/TéEle 22.0] V.P. 3.32 |16.68




201448548

ROUND: 2 TABLE: 6 DATE: 12-27-2014
128 XKHPA VS 10¥ki8IENX
F = A =
BT IR IR BT
it : B il it : EHEE IR - XgnE
EZAE 7 . EEHF B RBEAS 79 Bk
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
9 | %K\ | E |4D | +1 | -150| S | 25| -1 | -50 3
10 | W | E |3c|+2|-150| S | 2H | -1 | -100 2
11 | Wk | E | 25| = |-110| S [3NT| = | 400 11
12 | gt | E | 25| -2 | 100 | E |2SX| -2 | 300 5
13 | W | w | 6S | +1 |-1460| E | 4S5 | +3 | -710 13
14 | WE | W | 25| +1 | -140| S | 4H | +1 | 450 11
15 | gt | E | 3D | -1 50 S |3NT| +1 | 630 11
16 | ZH=fw | w | 2c | +1 | -110| E |[ANT| = | -90 1
DATUM&iit e
B XHBA IRBEN r. 3+ ] 0.00 |57.00
HEE/AR  -9.0| EEE/ABFW- 540 ‘it 0.00 |57.00
XN /EELE -54| BESE/ESHE 9.0  V.P. 0.00 |20.00




20148¥

ROUND: 2 TABLE: 7 DATE: 12-27-2014
15ERFKAF D VS 13RIEER
F = A =
BRI REBH REBH BRI
it : 2XxE K : JCOERR 16« X R EDT
B IR A B [ U= 75 : R
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
9 | FHFH/ | W |4H| = |-620| W | 4H | +1 | -650 | 1
10 | WME| S |3H| 5 |-500]| S |2H | -2 | -200 7
11 | WLk | W |2s| 1| 5 | N |3C| =] 110 2
12 | ggdt | E |3SX| -2 | 300 | N |3DX| -1 | -200 | 11
13 | W | E | 6S | +1 |-1460| W | 45 | +3 | -710 13
14 | Wk | S |4H| -2 |-100| S | 3D | -2 | -100
15 | Bt | N | 4H | -1 | -100 | N |4HX| -1 | -200 3
16 | ZRFE | W |AINT| = | 90 | W |3NT| -1 | 100 5
DATUM&iit e
BRAI RUE 241, #1 [15.00(27.00
SKB/EER -22 | XBYXIE®L  -6.01 &it  [15.00({27.00
ERJT/RGMN 6.0 | JLERED/BRER=  22.0( V.P. 5.61 |14.39




20148¥

ROUND: 2 TABLE: 8 DATE: 12-27-2014
16EXMPA VS 14T P —XFL R
F = H =
=P NN TN —3RIER TN —3RIR =P NN
it : R b : R
2 [ris 2 7
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
9 IRPY
10 | WE
11 | Wk
12 | Egdb
13 | WH
14 | Wk
15 | Egdt
16 gy
DATUM%#it I E
B K IYRA T MN—3X R 2R r: 5 ] 0.00 | 0.00
/ 0.0 / 0.0 ait 0.00 | 0.00
/ 0.0 / 0.0 V.P. |10.00/10.00




